I These are the points scored for zapping each type of Space Invader.

‘ OO e 1000 points

How many points are scored for zapping

@ 237 () 238, © 6778  (d) 674
) 1548, (n 2097 (g) 681 (h) 356 78R
(i) 13008 (i) 7140 &8, (0 20657€F (1) 100157

2 (@ I8xI0=M () 62xI100=M () 7x1000=MH
(d) 1000x39=H () 100xI52=H (f) 1000x5260= M
(99 96xM=90 () MxI4=14000 (i) MxI0=7340

3 Find the cost of one of each game. Toy World Orders
(a) Copies Total
bought Game cost
10 & | £370
100 = | £10400
1000 £43 000
8@ | |

4 (@) 620-10=1 (b) 1200+ 100=M (c) 15000 1000 =M
(d) 52000+ 100=M (e) 70000+ [000=H (f)y 5900 = 0= M
(9) 4700+ M =470 (h) 26000+ =260 (i) B = 1000 =392

5 Find the missing numbers.
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